Cfe Higher Maths Homework 3
Unit 1: Expressions & Functions: Logarithms and Exponentials
1.
Solve these equations: 
(a)
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(c)
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2.
Simplify    
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3.
Change to exponential form: 
(a)
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4.
The intensity
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of light is reduced as it passes through a filter according to the law 
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 is the initial intensity and
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 is the intensity after passing through a filter


of thickness t centimetres. k is a constant.

(a)
A filter of thickness 4 centimetres reduces the intensity from 120 candlepower to 90


candlepower. Find the value of k.

(b)
Light is passed through a filter of thickness 10 centimetres. Find the percentage reduction


in intensity.

5.
For each of these graphs,
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 Find the values of a and b.
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